GSXR1000 k3-4 hugger
Fittings:

a) 1x Black Strap bracket for right hand swinging arm (2 piece)
b) 2x M6x20 Stainless steel allen bolt

d) 3x Black plastic washers

e) 1x M6x12 button head allen bolts (for chain guard side)

9) 1x M4 Well nut

h) 1x M4x16 Flanged Button head bolt

)] 1x M4 Black plastic washer

General Information.

As with all huggers this model is designed to sit close to the tyre and should not be used with an
oversized tyre. When fitting is complete the Hugger should sit centrally over the tyre when viewed from
the rear. The tolerance in the right hand side mounting bracket allows adjustment to achieve this. As with
all accessories the mountings should be checked for tightness.

*hhkhkkhkhkhkkhkhkhkkhkhkhkkhhkhkkihhhkhhhkrhhkhhhkhhhkhhhkhkhhkhkihkhkkihkhkkihkhkkrhhkkrhhkihhkkihihkkihihkkiiikiiikkh

The Job is easer with the bike on a paddock stand.

First remove the chain guard. (To remove the plastic pop studs just push in the centre)

Unbolt the rear break-hose mounting clip on the top right side swinging arm.

This will allow the strap bracket to pass underneath the hose.

The strap bracket should be positioned against the front edge of the rear hose clip.

Place the M4 well nut (g) into the top hole of the swinging arm.

Offer up the Hugger and attach loosely to the chain side using 1x (e+d) and 1x (h+i)

Attach to the right side bracket using 2x (b) and 2x (d).

NOTE. Both fingers of the bracket should be inside the Hugger.

Fully tighten all fasteners checking left/right alignment over the tyre as you do so.

Re-tighten the rear break hose mounting clip.

Check position of hugger over tyre. If adjustment is required loosen all fasteners slightly to allow re-
alignment.




